Order of Operations

$$4 + 6 \times 2 + 11 =$$

$$5 + 5 \times 4 + 9 =$$

$$9 - 2 + 2 \times 5 =$$

$$.10 - 1 + 5 \times 6 =$$

$$7 \times 10 - 5 + 3 =$$

$$3 \times 2 \times 2 + 6 =$$

$$4 \times 2 \times 3 + 3 =$$

$$3 \times 3 + 6 \times 6 =$$

Order of Operations

$$4 + 6 \times 2 + 11 = 27$$

$$5 + 5 \times 4 + 9 = 34$$

$$9 - 2 + 2 \times 5 = 17$$

$$.10 - 1 + 5 \times 6 = 39$$

$$7 \times 10 - 5 + 3 = 68$$

$$3 \times 2 \times 2 + 6 = 18$$

$$4 \times 2 \times 3 + 3 = 27$$

$$3 \times 3 + 6 \times 6 = 45$$